M OXE &S

M CXE Dlch &Y S - SAIIGLNUR/AGRE - D5
ol OXE &g Jlgt =4 EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
CIXIE &t 3,183,213 4,360,376 1,177,163
CIXIE Olef &g SH(AY - SAIILLUHUX/ALXE - 3,157,079 4,360,376 A1,208,297
niss)
CIXE &g Jlgt &4 55,200 0 55,200
CXNEEM 4R =0 5,200 0 5,200
201 el 2,000 0 2,000
01 At2tltl 2,000 0 2,000
OICTIIY 2t=3l Jizl 2,000
202 04l 3,200 0 3,200
01 =LHOHI 3,200 0 3,200
OLXNEdy g2 =8 3,200
OICIGIOE &332t &4 50,000 0 50,000
403 AXIEHMSAH=201H 50,000 0 50,000
01 AXISHA=2E2 X 50,000 0 50,000
ODICIoOE s £ 50,000
CXE Sstatey =& 1,750,879 1,716,376 34,503
CXE sghar g2 =28 6,000 6,000
202 04l 6,000 6,000
01 2LHoIH 6,000 6,000
OUIXE seatd ¢4 =8 6,000
23 ICT88 D= J1gY X3 72,360 72,3%
308 AXIHSO0IA 72,360 72,3%
18 SIS0t HAS A 72,360 72,35
OZ¥ ICT8E &Jl= J1g X 72,360
WS UE XA (FIHEEXI) 130,000 300,000 A170,000
308 AFXIEHMSOIE 130,000 0 130,000
09 XIACHSr0l CHer BAEX 130,000 0 130,000
owsaUst XA 130,000
AZEO(SN) OIS M (2B XR) 435,000 350,000 85,000
308 XtXIEMSO0IH 435,000 350,000 85,000
18 SIS0t 4 A A A 435,000 350,000 85,000
OAZEO0I(SN) OlHIHS Ated 435,000
WEE2HAH 2.0 SSHMFLBH(RIETX) 875,520 875,520
308 AXIHSOIA 875,520 875,520
01 HAHHBSEELS 875,520 875,520
OWsE2IAH 2.0 Sate 235t 875,520
ICTOI'=HIOIA AN =& (IHEFRIH) 141,999 112,500 29,499
308 AFXIEHMSOIE 141,999 112,500 29,499
13 SI[2SOHe & EAS A 141,999 112,500 29,49
OICTOI=HIOIE AR ZEALS 141,999
NS Xssh S 28 AMG(SOHEEX) 90,000 0 90,000
308 XXM SOIA 90,000 0 90,000
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M OXE &S
M OXE 02 &Y SE(MY - SAIGLUHUX/AEEE - DEF})

ool CINE Satare =2 (cre:xigl)
RA B - SRA(E) - MIRA - BES ol &t G o HIDEY
09 XITHstol CHet ZaEX 90,000 0 90,000
OXNS XNsst AN &d At 90,000
CIXNEZE= &Y D|gt 2= 1,351,000 2,644,000 21,293,000
CXE2E= 4 =& 21,000 0 21,000
201 L= 16,000 0 16,000
01 At22t2ltl 16,000 0 16,000
O&EIt =232 23 3,000
otXgazd= g2 s =8 13,000
202 044l 5,000 0 5,000
01 =LH LI 5,000 0 5,000
OUXE2E= JF F& 5,000
ZE R AR HEAZUH 25 - 2 (201EEXR) 220,000 0 220,000
308 XXIHMSOIA 220,000 0 220,000
01 HXHHBAEES 220,000 0 220,000
-

DIBMIE 7E - 29 220,000
=

22 HEMA 58 75 2

(2HEFRH) 420,000 0 420,000
308 AHXIHMSOIA 420,000 0 420,000
183 S 2S0UeE 4R A AL S| 420,000 0 420,000
Ox=Z9&d HEHA 58 25 - 29 420,000
BIEIHA 858 ZEISAA 2L (IIEEXY) 600,000 1,500,000 900,000
308 XtXIEMSO0IH 600,000 1,500,000 900,000
18 SV 2SS & AET AL 600,000 1,500,000 900,000
OUIEtHA =8 Z2EISHA &4 600,000
12! DICIofelEe R=(RIEEX) 90,000 144,000 /54,000
308 AHXIEMSOIE 90,000 144,000 /54,000
18 S| 2SS & AEAIE 90,000 144,000 254,000
O12 0ICIoldeH = 90,000
SHE2SAHI(CIXIZ A D) (DIEH/DIE 26,134 0 26,134
Jl=23l 26,134 0 26,134
FH2E JI=22H| 26,134 0 26,134
201 er23 | 15,087 0 15,087
01 AtR2telbl 15,087 0 15,087
FN2E AR2teltl 15,087
202 OH| 8,047 0 8,047
01 =LHOHI 8,047 0 8,047
ORA2g =L 8,047
203 2R 3,000 0 3,000
04 FAE2EERFAH 3,000 0 3,000
©15¢! olat 3,000
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